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M 1/90rad,1/20rad  

  

 

105mm 120mm 

15mm 30mm 

 

4.11 kNm  

4.12  

4.13 kNm  

mm  15 15 15 18 18 18 21 21 21 

L mm  120 135 150 120 135 150 120 135 150 

rad  (×10
-3

rad) kNm  

1/90 11.11 0.19 0.24 0.28 0.24 0.30 0.36 0.28 0.35 0.43 

1/20 50.00 0.28 0.35 0.42 0.35 0.43 0.52 0.42 0.52 0.62 

 

mm  24 24 24 27 27 27 30 30 30 

L mm  120 135 150 120 135 150 120 135 150 

rad  (×10
-3

rad) kNm  

1/90 11.11 0.32 0.40 0.50 0.36 0.45 0.56 0.40 0.51 0.63 

1/20 50.00 0.49 0.60 0.73 0.56 0.69 0.84 0.63 0.78 0.95 

 

 120mm  

h  150mm 300mm 

 15mm 18mm 

 1  

 1/2  

 30mm 36mm 

 60mm  

 60mm  

mm  150 180 210 240 270 300 

rad  (×10
-3

rad) kNm  

1/90 11.11 0.60 0.68 0.76 0.83 0.91 0.99 

1/20 50.00 2.07 2.33 2.58 2.84 3.09 3.35 
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h

4.15 h:

4.18  (kNm) 

1/10rad

4.15  (kNm) 

 

mm  150 180 210 240 270 300 

rad  (×10
-3

rad) kNm  

1/90 11.11 0.90 1.70 2.50 3.30 4.35 5.40 

1/20 50.00 2.90 4.00 5.10 6.20 6.95 7.70 

mm  150 180 210 240 270 300 

rad  (×10
-3

rad) kNm  

1/90 11.11 1.03 1.24 1.45 1.65 1.86 2.06 

1/20 50.00 1.83 2.19 2.56 2.92 3.29 3.65 

120mm

(h) 150mm 300mm

5

1/2

30mm 36mm

4.14  

120mm

(h) 150mm 300mm

1/2

30mm

15mm
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4.10 Q=M/H Q 1  

 

  


